= IEENCHT—IV — M FE—2 IR -
NG ROTARY High Performance NC Rotary Table —Side motor mounted, Vertical or Horizontal Usage-

TABLE . TMX160 + TMX200 » TMX250
TMX series THX160 - THX200

SR TEYRICU Y Sfg*17
High performance range with high rigidity for heavy cutting

@S RINEIC KSR IETHID BT AE

High rigidity for heavy cutting
@=1EE  High accuracy
@O—4%)T a1 MESHATRE

Rotary joint options available
OIIEE BMEED AR

Can be used vertically and horizontally
@ HINEHARERER T —) U SR AL AR PTRE

Rotary scale can be fitted to further increase accuracy

at additional axis specifications
*CEXIGAm CE correspondence

TMX160

AT —)LAy o (P15, 1M78R) L6hE T RRYIOIMILERETY
Combine with tailstocks on P115 and 117 to suit machining of long work pieces.

AKTAGAWATED S TERT ¥ v I ERDETTIRE
D=0 R—=IVT 4V TEEOETTHEHRILEN
Only Kitagawa can offer this combination of NC Rotary Table and chuck



(ditagawa

TMX 160 H % % TMX 160 HV #*%

F—IIWHARX —[ FHLUEE F—TIWHAZ —[7“-‘*)“‘4 VES

Table Size Design No. Table Size Design No.
TMX:160+200+250 TMX:160-+200+250 inteft43
THX:160+200 E— %@ Motor type THX:160+200 83:2t2{sp*§ciﬁcation
95> 7 AR Clamping method 25> 7% Clamping method
#7E Type H : 3B Hydraulic H47& Type H : 3@ Hydraulic
ABSF Right-handed type : TMX ARSF Right-handed type : TMX
EBSF Left-handed type: THX EBSF Left-handed type: THX

M{t#¥ Specifications

B X Model TMX160 TMX200 TMX250
A%F Right-handed type O O O
A Left-handed type O O X
F—7)VE1E Table dia (mm) 165 $200 $250
F—7)VEHE71E Centre hole dia (mm) ¢ 50H7 ¢75H7 »105H7
F—7IVE@E7VE Through hole dia (mm) 040 $52 78
t>%2/\1 | Centre height (mm) 120 140 180
95> 773 Clamping method SHE Hydraulic SMEE Hydraulic HE Hydraulic
95T VY GAE 3.5MPak%)
Clamping torque (at hydraulic 3.5MPa) (N-m) 450 600 1100
E—2 8 A F—+ Motor axis reduced inertia (kg-m2) 0.00012 0.00032 0.00056
#—HRE—% (FANUCILARDIZR) Servomotor (for FANUC specification) aiF 2/5000-B aiF 4/5000-B aiF 4/5000-B
IR L Total reduction ratio 1/72 1/90 1/90

FANUC{L# (min-1/E—%3000min-1E)

F—7 I EsmEERE | FANUCspecification(min-!/at motor 3000min-T) 416 333 333
Max. rotation speed | M{E£4t# (min-/E—43000min 1)

M signal specification(min-'/at motor 3000min-T) 41.6 33.3 33.3
SFR7—%- 4+ —+ Allowable work inertia (kg-m2) 0.51 1.00 1.95
ZIHEFEEE Indexing accuracy (sec) 20 20 20
FIRFEME Repeatability (sec) 4 4 4
BB E Mass of product (kg) 56 71 101
FHT—IVAL YT GFTvav-P1sBER)

Manual tailstock (as an option-P115 reference) TS160RN TS200RN TS250RN
T—IVAEV RV FTa> - P119sER)
Tail spindle (as an option-P119 reference) TSR121A TSR142A(H) TSR181A(H)

T PPN e RJ40H16D01 RJ40H20DO1 RJ70H25D05
S el Il el L) SHIE/Z2EAR— SIE/ZREAR— SHIE/Z2E6 K —

el e e P e Hydrauric/Pneumatic 4-port | Hydrauric/Pneumatic 4-port | Hydrauric/Pneumatic 6-port

(F=TI 50T FXL (N-m)

Allowable load
(When clamped to table)

600 1100 1600

FXL (N-m) 450 600 1100

HEE (kg)
HAEHEE Horizontal installation 160 200 250
Allowable mass of
workpiece IEE (kg)
Vertical installation 80 100 125
F (kN) @ 10 7 .
HAE

SFRLIEI VY T (N'm)
(V4 —LFTHE)

Allowable cutting torque
(Worm gear strength)

) LERESRAAA Y FIENCT —7)LDTC- DM - LREBRC 2V —RICHEEL TWE T, 2V /A RVTERBL TV E A, 0T BERICTTEHFEFEL,  3NCT—ILET
PERRE DRID T —T IWRUFR—AIMIBLTEVE A, 40—2UT 34> bOT =7 IVEY 7 AIR—FERIZTMX200. 2501&F7 —7)VRIEE. TMX160(E V7 BIBIE L EVE S,
5 R RERIFEAMESRROEETT,
Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. Solenoid valve is not incorporated. Consequently, customer shall prepare it.
3. Neither cable nor hose is fitted between NC rotary table and machine tool... 4. In the port side on a table surface jig side of a rotary joint, TMX200 or 250 is fixed to the rotary
table side, and TMX160 to jig side. 5. Each product mass is determined by a Kitagawa M signal spec.

240 310 730




TMX series

TMX160 - TMX200 - TMX250
THX160 - THX200

B~F%E [{3hn#h{t4#%] Dimensions [additional axis specifications)

396

240

540

TMX160 (THX) 77 LE
Table surface 2 =
g g <
Rc3/8 L A — &
SR ARE 3 T T7T
Hydraulic port for clamp 145 100 i D
t hydrauli .
(at hydraulic spec.) 18 32 20 6-M6
144
i -
N - : 7_'—7‘}l/§ié7'§ ARV
s o o] Through Hole Diameter Hex bolt
M16X60
S =
Y BUEEY 5 . 30
o BEO—2)Y3/ 7k
‘Cll HX{TJB% o
] In mounting the standard 12 & "’1
0 i = = rotary joint ,’_'e
8-M10 ol 8h7 d S | 10 10" ‘ —
— 16| |23| —
102 140 Eim, }
104 327 LAJ @
206 225 0)
— | ) 30 =~
T—IIVTE < U5 T8EA
a3 Table T-slot Grooves Clamping Parts.
TMX200 (THX)
3-Ms 2
Re3/8 \ o B
95> 7 RHERHAN I o ST G [P
GREMHEES) 282 58 L[ IT] S
Hydraulic port for clamp N | = | e
(at hydraulic spec.) 176 106 F—IILE L37 20
|47 TTabIe s)urfaE ‘ 6-M6
E— 175
B 77V R
b | | Through Hole Diameter
A I I o FNERIVE
= I g Hex bolt
2 Lo___ 8§ M16X60 -3
= 120
< 1 12 =
7 b/ | 2B IPER U j—f -
N L\ iR # 1. %
o 8F 0 ; 9 Inmounting the standard ‘ :F -
rotary joint 1 <2
171 1 =T
T—7IVTiE @
243 Table T-slot Grooves 30 I5TRE
187 - ClampingParts
TMX250
Rc3/8 12 e
55 T RmERRN BEO— 52U a1 MRIE :\k
CHEHRES) 317 In mounting the standard rotary joint ‘E
Hydraulic port for clamp i o
(at hydraulic spec.) . 210 | 107 2‘1
3-M12 S 59 _ M
T—7ILE@E
T\/\ © Table surface  3-M6 T—IIVTE
1 1 ——} © Table T-slot Grooves
o I 8 | } @ @
0 ! ‘ \ L4 S 8 BRI
=" — Oy NN
o } } B N /| % b R > Hex bolt
I VS NN W | E—— g € S A A M16X70 T%
. = B Asi| M
8 <08 39 20/[\eM8 4 [T | g |
i . 209 q ML
i O 1} f
Q Q13 13l & S EER ]
< o T—7IVEBIN b
205 Through Hole Diameter

14| |24
t
)
o 30
o

¥ ERNFTESFANUCIAR T, It E—2ARDIBE TEDRBZ ST DB £T, TMXISERFARR THXIZEBFHKRTT,
% The above dimensions are the same as FANUC specifications.Those dimensions may vary from motor to motor that is mounted.
TMX s a right hand spec. and THX is a left hand spec.

Io7HE
Clamping Parts




]
FE— S DRI KU ADED BAMABUE T, Lbltag awa

*The dimensions may vary from motor to motor that is mounted.

W~1Z%E [M{E5{14#%] Dimensions [M signal specifications])

TMX160 (THX)

Rc3/8
ISV T RBREEO
CHELHRES)

Hydraulic port for clamp
(at hydraulic spec.)

REO—2) T34 > MRS

In mounting the standard rotary joint

F—7)VEmE
Table surface

3-M10 £
N o z
3 <
_ D
|- —
o gl - —
N g
N o 8 7
& 1 § 3 144 30
& e e
q F—7IVEENR
Through Hole Diameter
o] <
i 10 10 12
140 ‘ 41(‘,— i
104 208 L 1o @
206 189 |57 Lot w130
— s QY IS5 T8RE
402 T—JITiE Clamping Part
Table T-slot GFooves Llamping rarts
TMX200 (THX)
Rc3/8 ,’_rem
C
95T RBEMEO 1BHEO—21) Va1 > MRS =
CHELERES) In mounting the standard rotary joint ‘ ~
Hydraulic port for clamp 1 |
(at hydraulic spec.) S T tE 21 “r
3-M10 15° Table surface S LTS
T—7IT;
3-M6 Table T-slot Grooves
. — oo}
S=c T
8 g g 9 ABRIS
” ° = t = < Hex bolt
| o
§ = I Q SRy —— 9 30
o 7
I 20 37 20 5-M8
I 175
e gl F—7IVEER =
Through Hole Diameter 16 23] —
257 e
[Te]
155 |57 o 439 s5v7mAE
456 Clamping Parts
TMX250
12
Rc3/8 <T,
55> EHERAT ‘ =
CHFELREF) BEO—421) T34 FNEYIES Eﬁ
Hydraulic port for clamp In mounting the standard rotary joint 2\1 ‘A’
(at hydraulic spec.) F—T)LLE
3-M12 5 Table surface F—IITE
\ 3-M6 Table T-slot Grooves
y [ H[B © % —
% g B
2 - 5 — AEARIVE
of l: 2 Il o | 5 Hex bolt
8 £208 g 9 SEER 113 m‘ M16X70 r,ﬂj
= 1|39 20 _ Co
- 6-M8 o 3
209 Q |
ﬁ 7 i
& F—JIVEEN -
Through Hole Diameter 14| |24| ~
140 367 ’ @
4 296 154 |57 o _
511 @ J&L 950 78@E
R Clamping Parts

HTMXIE B F R, THXIE RS FAR T,
#TMX is a right hand spec. and THX is a left hand spec.




